MIAMI-DADE COUNTY, FLORIDA
MIAMIDADE METRO-DADE FLAGLER BUILDING
COUNTY

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563

(305) 375-2901 FAX (305) 375-2908
NOTICE OF ACCEPT ANCE (NO A) www.buildingcodeonline.com

Alufab Hurricane Shutters, Inc.
13000 N. W. 38™ Avenue
OPA-LOCKA, Florida 33054

Scork: ‘

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: 0.0295” (min.) Galvanized Steel Storm Panels Shutter

APPROVAL DOCUMENT: Drawing No. 05-145, titled “ 0.0295” Thick Galvanized Steel Storm Panel *, sheets
1 through 15 of 15, & 8A of 15, prepared by Tilteco, Inc., dated June 19, 2005, last revision #2 dated October 06,
2005, signed and sealed by Walter A. Tillit Jr., P.E., bearing Miami-Dade County Product Control Revision stamp
with the Notice of Acceptance number and expiration date by the Miami-Dade County Product Control Division.
MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each panel shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 04-1104.01 and consists of this page 1, evidence submitted pages E-1 & E-2 as well as
approval document mentioned above.

The submitted documentation was reviewed by Helmy A. Makar, P.E.

// 4 M\/ NOA No 05-1003.17
) Expiration Date: 04/29/2009

05/I|/2,006 Approval Date: 05/1}1);2;3?




Alufab Hurricane Shutters, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

[a—y

EVIDENCE SUBMITTED UNDER PREVIUS APPROVAL #04-0210.01

A. DRAWINGS

1. Drawing No. 03-244, titled “ 0.0295" thick galv. Steel storm panel 7, sheets |
through 8 of 8, prepared by Tilteco, Inc., dated December 04, 2003, last revision #1
dated March 30, 2004, signed and sealed by Walter A. Tillit Jr., P.E.

B. TESTS
1. Test report on Uniform Static Air Pressure T: est, Large Missile Impact Test, and
Cyclic Wind Pressure Test of 0.0295 " galvanized steel storm panels shutter, prepared
by Construction Testing Corporation, Report No. 03-025, dated December 31, 2003,
signed and sealed by Yamil G. Kuri, P.E.

C. CALCULATIONS
1. 0.0295” thick galvanized steel Storm panel calculations, Sheets 1 through 51 of 51,
by Tilteco, Inc., signed and sealed by Walter A. Tillit Jr., P.E., dated February 03,
2004.

D. QUALITY ASSURANCE
1. By Miami-Dade County Building Code Compliance Office.

E. MATERIAL CERTIFICATIONS
1. Mill Certified Inspection Report, dated 02/1 7/03, for G-60 Steel, ASTM A653 Grade
80 by GalvTech, with chemical composition and physical properties.
2. Tensile Test Reports from Certified Testing Laboratories, Job No. CTL-1116 dated
January 23, 2004 for galvanized steel, tested per ASTM E8-93, signed and sealed by
Ramesh Patel, P.E.

EVIDENCE SUBMITTED UNDER PREVIUS APPROVAL #04-1104.01

DRAWINGS

1. Drawing No. 03-244, titled “ 0.0295" thick galv. Steel storm panel 7, sheets |
through 8 of 8, prepared by Tilteco, Inc., dated December 04, 2003, last revision #1
dated March 30, 2004, signed and sealed by Walter A. Tillit Jr., P.E.

>N

B. TESTS
1. None.

C. CALCULATIONS
1. None.

Helion A ALL

¢ Helmy A. Makar, P. E.
Product Control Examiner
NOA No 05-1003.17
Expiration Date: 04/29/2009
Approval Date: 05/11/2006



Alufab Hurricane Shutters, Inc.

w

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

QUALITY ASSURANCE
1. By Miami-Dade County Building Code Compliance Office.

MATERIAL CERTIFICATIONS
1. None.

NEW EVIDENCE SUBMITTED

DRAWINGS

1. Drawing No. 05-145, titled “ 0.0295” Thick Galvanized Steel Storm Panel ", sheets 1
through 15 of 15, & 84 of 13, prepared by Tilteco, Inc., dated June 1 9, 2005, last
revision #2 dated October 06, 2005, signed and sealed by Walter A. Tillit Jr., P.E.

TESTS

1. Test report on Uniform Static Air Pressure Test, Large Missile Impact Test, and
Cyclic Wind Pressure Test of 0.0295” galvanized steel storm panels shutter, prepared
by Construction Testing Corporation, Report No. 05-002. dated October 1 0, 2005,
signed and sealed by Yamil G. Kuri, P.E.

CALCULATIONS

L. 0.0295” thick galvanized steel Storm panel calculations, Sheets | through 74 of 74,
by Tilteco, Inc., signed and sealed by Walter A. Tillit Jr., P.E., dated October | 4,
2005.

QUALITY ASSURANCE
1. By Miami-Dade County Building Code Compliance Office.

MATERIAL CERTIFICATIONS
1. None.

felog f AL~

Helmy A. Makar, P. E.
Product Control Examiner
NOA No 05-1003.17
Expiration Date: 04/29/2009
Approval Date: 05/11/2006



A

GENERAL NOTES:

1. STORM PANEL SHOWN ON THIS PRODUCT APPROVAL DOCUMENT (P.A.D.) HAS BEEN VERIFIED FOR COMPLIANCE IN ACCORDANCE
WITH THE 2004 EDITION OF THE FLORIDA BUILDING CODE.

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1620 OF THE ABOVE MENTIONED CODE. IN ORDER TO VERIFY THAT
COMPONENTS AND ANCHORS ON THIS P.AD. AS TESTED WERE NOT OVER STRESSED. A 33% INCREASE IN ALLOWABLE STRESS FOR

WIND LOADS WAS NOT USED IN THEIR ANALYSIS. A DURATION FACTOR CD=1.60 WAS USED FOR VERIFICATION OF FASTENERS IN
WooD.

THIS SHUTTER SYSTEM MAY BE INSTALLED AT HIGH VELOCITY HURRICANE ZONES.
DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1620 OF THE ABOVE MENTIONED CODE.

STORM PANEL'S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH SECTION 1609.1.4 OF

THE ABOVE MENTIONED CODE AS PER CONSTRUCTION TESTING CORPORATION REPORT #03-025 AND 05-002 AS PER TAS-201,
TAS—-202 AND TAS—-203 PROTOCOLS.

2. ALL STEEL SHEET METAL PANELS SHALL HAVE STRUCTURAL QUALITY ASTM A—653, GRADE 80 DESIGNATION W/ Min. Fy=93.78 ksi
(AFTER ROLLED) AND TO BE G-90 GALVANIZED.

3. ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION 6063—-T6 ALLOY AND TEMPER (UNLESS OTHERWISE NOTED). THE
THICKNESS OF ALL EXTRUSIONS SHALL BE AS SHOWN ON THIS DRAWING.

4. ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 AIS| SERIES OR CORROSION RESISTANT COATED CARBON STEEL AS PER DIN
50018 WITH 50 ksi YIELD STRENGTH AND 90 ksi TENSILE STRENGTH.

S. BOLTS TO BE ASTM A~307 GALVANIZED STEEL, OR AlSI 304 SERIES STAINLESS STEEL WITH 36 ksi MINIMUM YIELD STRENGTH.
6. ANCHORS TO WALL SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED)

(A) TO EXISTING POURED CONCRETE:
— 1/4"8 TAPCON ANCHORS MANUFACTURED BY ELCO TEXTRON INC., INTO CONCRETE W/ fe=3.32 Ksi (Min.)
— 1/4"0x7/8" CALK—IN ANCHORS MANUFACTURED BY POWERS FASTENERS, INC., INTO CONCRETE W/ fe=2.0 Ksi (Min.)
— 1/4"0x7/8" PANELMATE (female/male) MANUFACTURED BY ELCO TEXTRON, INC., INTO CONCRETE WITH f'c=3.35 Ksi (Min.)

NOTES:
A.1) MINIMUM EMBEDMENT INTO POURED CONCRETE OF TAPCON ANCHOR AND ELCO PANELMATE IS 1 3/4"

A.2) 7/8" CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE POURED CONCRETE.
NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED.

1/4"0—20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST, AND 1" MINIMUM FOR
WALLS WITH NO STUCCO.
SCREWS SHALL HAVE HEAD SIZES AS INDICATED ON CORRESPONDING SECTIONS OF DRAWING.

A.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE OR BRICK PANELS, VENEER OR PAVERS BE FOUND ON
THE EXISTING WALL OR FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND
SUCH PANELS. ANCHORAGE SHALL BE AS INDICATED ON NOTES A.1 & A.2 ABOVE.

B) TO EXISTING ASTM C—90 CONCRETE BLOCK WALL:
— 1/4"¢ TAPCON ANCHORS MANUFACTURED BY ELCO TEXTRON, INC.
— 1/4"0x7/8" CALK—IN ANCHORS MANUFACTURED BY POWERS FASTENERS, INC.
- 1/4"0x7/8" PANELMATE (female/male) MANUFACTURED BY ELCO TEXTRON, INC.

NOTES:
B.1) MINIMUM EMBEDMENT OF TAPCON ANCHOR AND ELCO PANELMATE INTO CONCRETE BLOCK UNIT IS 1 1/4°

B.2) 7/8" CALK—~IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO CONCRETE BLOCK UNIT.
NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED.
1/4"0-20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST, AND 1" MINIMUM FOR
WALLS WITH NO STUCCO.
SCREWS SHALL HAVE HEAD SIZES AS INDICATED ON CORRESPONDING SECTIONS OF DRAWING.

B.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE OR BRICK PANELS, VENEER OR PAVERS BE FOUND ON
THE EXISTING WALL OR FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND
SUCH PANELS. ANCHORAGE SHALL BE AS INDICATED ON NOTES B.1 & B.2 ABOVE.

C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR
MANUFACTURER.

©2005 TILTECO, INC 0.0295" THICK GALVANIZED STEEL DRAMN BY
STORM PANEL s
06/19/05
/ '"- [ECO e \ ALUFAB HURRICANE SHUTTERS, INC. i
TILLIT TESTING & ENGINEERING COFAZPANYJJ 13000 N.W. 38th AVE.
6355 N.W. 36th. St, Ste. 305, VIRGINIA GARDENS, FLORIDA 33166 -
Phone : (305)5;1-7530 . Fax : (305)871-1531 OPA—LOCKA, FL 33054 05—-145
o y e~mail: tilteco®aol.cam - DRAWING No
;Q.%« - 2 ; EB~-0006719 REV. No DESCRIPTION BATE | REV. Mo DESCRIPTION DATE
" WALTER A. TILLIT Jr., P. E 1 OLD 03~Z44 05,/13,/05 2 SHEET 1 OF 15
NOV 69 2005 FLORIDA Lic. # 44167 z CENERAL 10/5/05] 4

7. PANELS MAY ALSO BE INSTALLED HORIZONTALLY FOLLOWING INSTALLATION DETAILS SHOWN ON SECTIONS 1 THRU 4 (SHEET 3
AND 4 OF 15) EXCEPT THAT HEADERS 2 AND 3 SHALL NOT BE USED.

8. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE SHUTTER IS
TO BE ATTACHED TO INSURE PROPER ANCHORAGE. ’

CONTRACTOR TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN CONTINUOUS CONTACT WITH THE BUILDING TO
PREVENT WIND/RAIN INTRUSION. CAULK AND SEAL SHUTTER TRACKS ALL AROUND FULL LENGTH.

9. STORM PANEL INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN THIS DRAWING PLUS ANY BUILDING AND ZONING
REGULATIONS PROVIDED BY THE JURISDICTION WHERE PERMIT IS APPLIED TO.

10. (a) THIS P.AD. PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE INFORMATION FOR A SITE SPECIFIC
PROJECT; i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.A.D.

(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY OF THIS
PRODUCT, BASED ON THIS P.A.D., PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED ON THIS DOCUMENT.
CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR'S RESPONSIBILITY.

(c) THIS P.AD. WILL BE CONSIDERED INVALID IF ALTERED BY ANY MEANS.

(d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED PROFESSIONAL ENGINEER OR ARCHITECT WHICH
WILL BECOME THE ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER USE

OF THE P.A.D.
ENGINEER OF RECORD, ACTING AS A DELEGATED ENGINEER TO THE P.A.D. ENGINEER SHALL SUBMIT TO THIS LATTER THE SITE
SPECIFIC DRAWINGS FOR REVIEW.

(e) THIS PA.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER OF RECORD THAT
PREPARED IT.

11. SHUTTER'S MANUFACTURER PERMANENT LABEL SHALL BE PLACED ON THE EXPOSED SURFACE OF THE CENTER FLANGE OF A
PANEL APPROXIMATELY 4" ABOVE THE BOTTOM OF SUCH PANEL.

ONE [ABEL SHALL BE PLACED FOR EVERY PANEL.

LABEL SHALL READ AS FOLLOWS:

ALUFAB HURRICANE SHUTTERS, INC.

OPA—LOCKA, FL.

MIAMI-DADE COUNTY PRODUCT CONTROL APPROVED.

PROBUCT REVISED

By
Minmi Da
Division

votuct Control

F.B.C. (High Velocity Hurricane Zone)




DETAIL 1 . . . 2.357"
\ l~1" 1.400" — 2" —1.400 { 1.250 l 1.400 i 2 | PR,
357"
7 ! ’
) N 2
L O :f_ ) Q
, ‘ N :
. < GALVANIZED STEEL
N > ASTM A-653 N ! T )
Wy . GRADE 80 o ) ~{|~.094"
IS -750 G-90 GALV. N .
VAR 10 N -
f ! S . LN
_1|_.093” NN ! [—.093 ,',\1
12" (EFFECTIVE WIDTH) DETA/ Typ. _}_ |§
£14" (TOTAL WIDTH) —J—L—'ZSCALE: e 1 N\ f l -~|- 7
| 2.125” e
@P_AN.EL 2.125" ——= 4 ~ 30
SCALE: N.T.S. @ @
3 Mox, 3" Max b _HEADER u HEADER
i CONCRETE ANCHORS (SEE SCHEDULE) e (500575 ALUMNM ALLOY) (600575 ALUMINUM ALLOY)
COMPONENTS S s
(o] Q [+ (o]
p— e ——— — / [ — . TYP. TOP EDGE
T~ T TT T~ TT™ T m//‘!——l-r T ,2 /—\JOFPANEL
Ll - ™
——L—" —-’-_—F‘. )
| » 1/4"8-20 S.S. 125" .625" » i
| T 125 "] |‘ STUD RIVETED TO | K 5ok
=T S ANGLE @ 12" 0.C. i Y ¢ I 4
% S~ 094" § Tt 12
N\ 3 e M O T8
: bt | l
v A h b N 5 ERY
@ SEE : s
4 N DETAIL 2 N —WH!{#H— © 0
A ’ 3 § 9 PANEL
R B 1_r | f
/ | l T .063" =} = | F —J-
by " " b .1875"
/ >\\ 5 ! 2 ' ~ 125"
@ 2"x5"(Max.)x1/8” ANGLE (5) ANGLE WITH STUD DETAIL 2:
SCALE: 1/2" = 1" SCALE: 1/2" = 1" sngéq {/E/ ://Ni A;L'/'T
[ Dol T1s '_7/£§ [ [Tl el Tle & ] Sran 1/4” THICK ™ \_’\l
374 ALUMINUM " TYP. BOTTOM
PLATE :
" 9, 1/2" -~ | EDGE OF
3" Mad CONCRETE ANCHORS (SEE SCHEDULE) 3 May. 188" H H+ S 8 (6)"1_55 —~ - PANEL
i T ' T - S SN N KEY HOLE AT PANEL
RN SCALE: N.T.S.
ANEL 8
? © 2 2
SCALE: N.T.S. .’: ;—\r':[—r n N
1/4" Max. GAP 1/4" Max. GAP f— © B
NN /r— 4 — = %,
7R\ /A /5R\ 7@2 V(7)) /TaO\ : ) ) N _ o 1
\—— = N 7 e N7 N 1L e @ & ——
e 095~
' L 5 6" 5" 2 ;2 =04
SCALE: N.T.S. ~ 214" 6 E”_TRACK - N £06E 0F (D " }/, / /.,
2.341" il .
N SCALE: 1/2" = 1" Meiami Dade Z”g@aﬁé’a@mﬁmﬂ
a A IR (R @ T 16” ROUND HOLE AT P. Division :
2 [e) ~ 2 - "
> = . SCALE: 3/16" = 1
R |l osar FAR~ < 8§ 3 / (OPTION TO 8)
. typ. AT S 8 T T . . .
g Py s h F.B.C. (High Velocity Hurricane Zone)
o AN} m
» 7] ©2005_TILTECO, INC 0.0295”" THICK GALVANIZED STEEL DRAWN BY
P % ' STORM PANEL M
N
i 06/13/05
l / I"- l ECO inc \ ALUFAB HURRICANE SHUTTERS, INC. it
’ 55 MW JGth. St. Ste. 305, y OPA~LOCKA, FL 33054 05—145
”, 9 ” 39 gua 39 - % Phone : (J05)H71.-.-15:30 . Fax : (305)871-1531 ‘
©@ “h” siLL (0 3” Max. BUILD OUT "F” TRACK <=2 el Hscodicicom | e n
SCALE: 1/2" = 1” SCALE: 1/2" = 1 o WALTER A, TILLIT Jr., P. E. 1 oD 05-244 _ b6/19/08 3 - SHEET 2 OF 15
NOV 69 2005 FLORIDA Lic. § 44167 P GENERAL 10/5/05] 4 -




CONCRETE ANCHORS

SEE SCHEDULE
R Min.
SEFPARATION
TO EXISTING GLASS

(SEE SCHEDULE) K’[ S
wy
— Q
- R
’ ]
r N
| 1 T
_ | r
g | |
POLRED CONCRETE - |
WALL REQUIRED | N
\ : } Cant,
!
|
(.
I
[
.
-
L1

I — r_____{_.______

Mox. PANEL LENGTH (SEE SCHEDULE).

\/ Vv
s -
(. |
- |
| [
l | =]
< L
|
POURED g [ l
CONCRETE OR w l [ l
CONCRETE
BLOCK WALL f |
REQ'D \l |- f
—— ! |
_j - '\'E | 1
CONCRETE ANCHORS l

(SEE SCHEDULE)

N
= SECTION 1

SCALE: 3/8" = 1"

CONCRETE ANCHORS
(SEE SCHEDULE) me;ngﬁgggg
CALK—IN ANCHORS © @) £D. ED:
W/ 1/4"6-20x1" POURED L POURED h
TRUSS HEAD BOLT + CONCRETE i CONCRETE i
(SEE SCHEDULE) | | REQUIRED - REQUIRED ) ,
o UET NN
— N
=P N SO WA
[ e : =
| l I T | N T
| | ‘ | n || [
POURED CONCRETE | | ; I -
WALL REQUIRED & ! | | = | I |
uj | | {
1 | i
l i ’ | l | |
1 | | | l | |
| ! | | ! I Cont, [ | } Cont.
[ | f i (- I | {
{ . ] ] l | I U ser scmepue || !
a | ' | I~ FOR Min, | iy
I | l 8 see_sewepue  f | | Q SEPARATION — | m
L A, [ & l FOR Min. | | [ § 0 ggg;m | 3
% SEPARATION 8
i TO EXISTNG GLASS || ! | ¥ | >
T 2% — TV T & | | | a | | hd
O . €9
| . ! 2 T V Vv E’ Y x
: : : : Y I [ % INTERNALLY REMOVABLE {gNEL % | | ¢ g
In] | | W/SIDEWALK BOLT CONNECTED TO | &
s e - I - | l ! = THRU 1/2"8 HOLES AT®)@ 12" 0. : ! l =
0 @ (- o & FASTENED AT REAR W/7/8"#x3/32" i g
SEPARATION T0O F
Bostme giass || l g I P z WING NUT ® EVERY SIDEWALK BOLT. P | g
] | 3 i )
' 3 1/8"ax332* | n $
gu ' /\/CD ' ! e W07 0 | DET. 3/4
. | : Fieey STuD R ys
POURED ! || | | ! 7/8"8x3/32" -
CONCRETE OR g | | | | | WING NUT © o
CONCRETE ) | i | : EVERY STUD : l
BL%%U%;% [ | f | ! @ 12" oc REMOVE 2 STUDS AT OVERLAP !
ALTERNATE IF i BETWEEN INT. REMOVABLE PANEL i
| [ & ADJACENT PANEL AND OPEN l
APPLICABLE .
L~ - ] | { 1/2°# HOLES AT B TO ACCEPT ! i
- STUDS FROM INTERNALLY" i
| | | REMOVABLE PANEL [
il ] ] ¢ f v o~ ‘L : T
CALK—IN OR female
PANELMATE ANCHORS @ @) / M/ /l I/
W/ 1/4°8-20x1" TRUSS POURED .
HEAD BOLT * POURED CONCRETE
(SEE SCHEDULE) CONCRETE REQUIRED
REQUIRED ] " ED
£D.
i 7 ED. ALTERNATE IF
- SECTION 2 CONCRETE ANCHORS APPLICABLE CONCRETE ANCHORS

SCALE: 3/8" = 1"

ED. = EDGE DISTANCE
(SEE SCHEDULE ON
SHEET 11 OF 15)

FLOOR/WALL /CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

(SEE SCHEDULE)

* TRUSS HEAD BOLT TO BE
3/4"8x3/32" THICK HEAD
MACHINE SCREW W/ LENGTH
AS PER NOTES A2 & B.2

ADJACENT PANELS

(SEE SCHEDULE)

SECTION JB

PROBUCT

BVISED
Ath the Florids

¥k NOTE:

INTERNALLY REMOVABLE PANEL SHOWN ON
SECTION 3B SHALL ALWAYS BE INSTALLED
IN BETWEEN ADJACENT PANELS MOUNTED

AS SHOWN ON SECTION 3A.

ON SHEET 1.

1 NOTE:

INTERNALLY REMOVABLE PANEL SHALL BE
PROVIDED W/ AN ADEQUATE REMOVABLE
HANDLE IN ORDER TO INSTALL PANEL.

INSTALLATION — SECTION 3

SCALE: 3/8" = 1"

F.B.C. (High Velocity Hurricane Zone)

¥k

NOV 09 2005

©2005 TLIECO, INC 0.0295" THICK GALVANIZED STEEL DRAWN BY
STORM PANEL
06/19/05
/ I"- I ECO e \ ALUFAB HURRICANE SHUTTERS, INC. e
TLLIT TESTING & ENGINEERING COMPANY 13000 N.W. 38th AVE.

6355 N.W. J6th. S, Ste. 305, VIRGINIA GARDENS, 1

_ Phone: (.vas)a;t-ts.ra . Fax : (305)871-1511 OPA—-LOCKA, FL 33054 05—145

e —mail: tillaco@ool.
T e s e s I AL
WALTER A. TILLIT Jr., P. E. 1 oD 03~244  log/19/08 1 - -
FLORIDA Lic. f 44167 n TN 2 = =1 SHEET 3 OF 15




CONCRETE ANCHORS T
'SEE SCHEDULE,
¢ ) . s 1/4"8-20 MACHINE
S ont. BOLT W/ NUT &
AL @ WASHER © 12" 0.C.
| S——— Y- I
POURED CONCRETE 7
WALL REQ'D
4
Wi
i
1
{
I ~——7/8"8x3/32"
. | wwe nuT @
] Lo | Everr stup
I | | e2oc
| ]
[ Cont. I : I ™
| J S
’ L I g
I | &
! | | b
| Y - v— a
V T VT E
- ! g
SEE SCHEDULE FOR Min. - | ~
SEPARATION TO EXISTING ! [
I GLASS | I 2
| | | %
[}
| [ I §
| =
! . ]
| !
| |
| ' | 1/4°8-20x3/4"
POURED CONCRETE OR o A
; L 7/8"8x3/32"
CONCRETE BLOCK WALL o ' | e AT &
REQUIRED i | 12" oc
—Z Y I J
L —=--H
il 9
CONCRETE N
ANCHORS -
(SEE SCHEDULE)
6 Cont.

WING NUTS WHOSE
WINGS HAVE BEEN
BROKEN OFF

094" ——

~

NN

I

b, 750" #

875" ¢

—.438"
N
~

= SECTION 4

SCALE: 3/8" = 1"

1/4°#x1" S.S, SIDEWALK BOLT, W/ 3/4" SLOTTED HEAD,
FIXED TO INTERNALLY REMOVABLE PANEL (D THRU KEY
HOLE @ © 6" 0.C. W/ WASHERED WING NUT AT REAR

A

4 -

N

INTERNALLY
REMOVABLE
PANEL

.1875"— b

-

!
I
I
I
!
|

o
- varEs (8)Ker Hoe @ 6% oc.

N OF 1/4"°x1”

063" WHOSE WINGS HAVE BEEN BROKEN OFF.

CONCRETE ANCHORS
(SEE SCHEDULE)

POURED CONCRETE

WALL REO'D\\

CONCRETE ANCHORS

g
u

1
I
|
!
|
|
|
!

v

SEE SCHEDULE
FOR Min.
SEPARATION TO—

|
|
I

4%

EXISTING
GLASS

<

POURED CONCRETE OR
CONCRETE BLOCK WALL
REQUIRED

CALK—IN CR female
PANELMATE ANCHORS & @
W/ 1/4"8-20x1" TRUSS

HEAD BOLT* @

. = EDGE DISTANCE
(SEE SCHEDULE ON
SHEET 11 OF 15)

19

(SEE SCHEDULE)

72" 0.C. \

ON SHEET 1.

* TRUSS HEAD BOLT TO BE
3/4"8x3/32" THICK HEAD
MACHINE SCREW W/ LENGTH
AS PER NOTES A2 & B.2

©2005_TLTECO_INC 0.0295" THICK GALVANIZED STEEL ORAWN BY
: STORM PANEL

06/19,/05

/ I"- I ECO e \ ALUFAB HURRICANE SHUTTERS, INC. oA

TILLIT TESTING & ENGINEERING C'OMP,.%\NYJJ 13000 N.W. 38th AVE.
S —— iy 8355 N.W. 36th. St, Ste. 305, VIRGINIA GARDENS, FLORIDA 33166
(= ' Phone (Jas)s;:;rs.!a . Fax : (305)871~1531 OPA~-LOCKA, fL 33054 05—145
M‘“’""‘““*—m«wmmm . e-—mzz_lg_glé%c;g;al.cam FEV. Mo PESCRIPTION DATE | RV, Mo DESCRIFTION DATE DRAWING No
I WALTER A. TLLIT Jr., P. E. o o324 [06/19/08 3 - -
NOY 6g 2005 FLORIDA Lic. # 44167 > T U - | sweer 4 oF 15

CALK~IN OR female
PANELMATE ANCHORS
W/ 1/4"8-20x1"
TRUSS HEAD BOLT* @
6" O.C.

8
ln‘ *
rEe==JJf— 83
83
POURED CONCRETE f A 4
WALL REQ' : 7
g - I
i - I
I Cont.
(- I
- !
, - |
| . I
| - |
| |
A | SEE_SCHEDULE . [
Wy FOR Min. o |
a SEPARATION TO : o
] EXISTING (. | |
& GLASS | | 2
o | g
b — ! a
é | 7 2% iy
z | DETAIL 3§
g ! £
~d
| =
g | Y
5 g
a | Y
5 ' O E
= EE
POURED
CONCRETE OR q %
CONCRETE ui | |
BLOCK WALL i | I
REQUIRED o
]

Vi

I
‘ - 2
INTERNALLY REMOVABLE FANEL ;

W/ SIDEWALK BOLT CONNECTED TO
@ THRU 1/2"8 HOLES AT @

@ 6" 0.C & FASTENED AT REAR W/
7/8"6x3/32" WING NUT @ EVERY
SIDEWALK BOLT.

SECTION o8B

= SECTION 5

SCALE: 3/8" = 1"

iSED

SUCT BEY)
&

1 NOTE:

INTERNALLY REMOVABLE PANEL SHALL BE
PROVIDED W/ AN ADEQUATE REMOVABLE
HANDLE /N ORDER TO INSTALL PANEL.

s sk NOTE:

AS SHOWN ON SECTION 5A.

INTERNALLY REMOVABLE FANEL SHOWN ON
SECTION 58 SHALL ALWAYS BE INSTALLED
IN BETWEEN ADJACENT PANELS MOUNTED

F.B.C. (High Velocity Hurricane Zone)




CONCRETE ANCHORS

(SEE SCHEDULE)l:

]
Q X
Q3
1
’ }
. | ]
POURED CONCRETE o | |
WALL REQUIRED | | ol
; K
[ (
| [
! | |
=~
' | | | g
| | | %
| ' ' 5
| ! -
I Py P 8
(. 2% 2% i z
| g
SEE SCHEDULE
FOR Min. ___| | o
[ SEPARATION TO I 3
EXISTING GLASS 9 &
' 3
| | 3
!
|| 1/4"8-20x3/4"
| §5. ms w/
7/8%8x3/32"
POURED CONCRETE : B
OR CONCRETE a | —~——rWiNG T ©
BLOCK WALL : I 12* o.c.
REQUIRED E i
{
N ! !
L= :
ﬁ/ g
CONCRETE ANCHORS
(SEE SCHEDULE) /
Cont.

CONCRETE ANCHORS

POURED CONCRETE
WALL REQUIRED

(SEE SCHEDULE)

Q
S
Q
_l L]
I e as
Qs

@ CUT END PANEL 2

£.D.

e

SEE_SCHEDULE |
FOR Min.

SEPARATION TO _J| 1

EXISTING GLASS ™|

—

— ==

Conti.

2"%4"%1/8" J105-H14 OR
E063~T6" ALLOY Cont. Alumn.

CASE A (Plan)

SCALE: 3/8" = 17

1/4% b
‘l POURED
/| CONCRETE OR
CONCRETE BLOCK
WALL REQUIRED

CONCRETE
ANCHORS

;4_,——0 12* o.C.

ANGLE !

Ay

2" Min

POURED CONCRETE
OR CONCRETE BLOCK
WALL REQUIRED

—V /@f

- \/\I\DET. 3/4
INTERNALLY REMOVABLE PANEL |
W/ SIDEWALK BOLT CONNECTED
@ THRU 1/2"8 HOLES AT @)
@ 6" 0.C & FASTENED AT REAR
W/ 7/8"6x3/32" WING NUT ©

EVERY SIDEWALK BOLT.

|
1

POURED CONCRETE
OR CONCRETE
BLOCK WAL !

ED.

@

Mox. PANEL LENGTH (SEE SCHEDULE)

REQUIRED

500"
r
N1
e
Ty

e 7 ¥ ]

CONCRETE ANCHORS
(SEE SCHEDULE)

1/4"0-20x3/4"

S.S. MS. W/
7/8"#x3/32° WING
NUT @ & O.C.
Cont,
xx

~ SECTION 6

SCALE: 3/8" = 1"

koK NOTE:

INTERNALLY REMOVABLE PANEL SHOWN ON
SECTION 6B SHALL ALWAYS BE INSTALLED
IN BETWEEN ADJACENT PANELS MOUNTED

AS SHOWN ON SECTION 6A,

1 NOTE:

INTERNALLY REMOVABLE PANEL SHALL BE
PROVIDED W/ AN ADEQUATE REMOVABLE
HANDLE IN ORDER TO INSTALL PAMEL.

CONCRETE w o
ANCHORS 2" Min.
@ 12" ocC. .
\1 LR
LA N
\—ﬁT*— T E
7 ALTERNATE LEG LOCATION

T 2%2".055" TO 2%5%.055"
Cont. Alum. ANGLE OR .080"
3105-H154 SHEET METAL Alum.
BENT PLATE OR 18 GAGE Galv.
STEEL ANGLE

CASE C (Plan)

SCALE: 3/8" = 1°

POLRED
CONCRETE OR
CONCRETE BLOCK
WALL REOUIRED\
1.5 X"
E.D. = EDGE DISTANCE
(SEE SCHEDULE ON ' —]
SHEET 1t OF 15) !

F.B.C. (High Velocity Hurricane Zone)

POURED CONCRETE ]
OR CONCRETE BLOCK
WALL REQUIRED

1/4“¢ BOLT
@ 12° oc.
W/ JACKNUT

CASE B (Plan)

SCALE: 3/8" = 1"

2" x 4" WOOD
STUDS REQUIRED

4'%4°%.093" 3105~-H14 OR
8063—T6 ALLOY Cont. Alum.
ANGLE OR 18 GAGE Galv.

STEEL ANGLE

© CORNER (Typ.)

SCALE: 3/8" = 1"

©2005 TLTECO, INC 0.0295" THICK GALVANIZED STEEL DRAWN BY
STORM PANEL
TiLleco v
INC. ALUFAB HURRICANE SHUTTERS, INC. DATE
TILLIT TESTING & ENv%zEER'NDGmCOrPANYJJ .6 13000 N.W. 38th AVE.

— 6355 N.W. 36th. St, Ste. 3OS, VIRGINIA GARDENS, FLORIDA 331
e TR, | Phone : (305)8;;_—75:10 . Fox : (305)671-1531 OPA-LOCKA, FL 33054 05—-745
e et ;5 ’—mz.'g_zgg?f;gal'mm BEV. N DESCAPTION oatt | REV. o DESCRIFTION DATE DRAWING No

B WALTER A. TILLIT Jr., P. E. oD o3-244 619/ 3
NOV 09 2008 FLORIDA Lic, # 44167 - o T . SHEET 5 OF 15




CONCRETE ANCHORS

CONCRETE ANCHORS

CONCRETE ANCHORS

(SEE SCHEDULE) (SEE SCHEDULE) (SEE SCHEDULE)
_\ . CONCRETE ANCHORS .
— = [ é (SEE SCHEDULE) - §§
8 @ 1/4" 9-20 ;{3/4" | )
S.S. BOL
I § | cont 7/8" x .3/32{ VY S — :
| | S P o3 -
g POURED GONGRETE - POURED CONCRETE g ] ] POURED CONCRETE g
PO CoNareTE i { : } WALL REQUIRED WALL REGUIRE U | i ’ WALL REQUIRE W : : :
|| N 8 ! 1 I N | N
: } : Cant. [ | l ?—3‘ : } } Cont. 'I : : Cont.
I | | % , N | . | | l 2 | | |
l B | 5 | | | 5 | - | t: | || | 2
' s sowepue || | y l . z U ser souepue | ! l ?, U ser scvepme ||| l 5
l Min.  _lI | [ @ | L i < | ror Min. | | f | ForR Min.  _{l | [ ¥
SEPARATION || i 2 ~ W SEPARATION L | z [~ sepamarion T | ] &
TO EXISTING GLASS N 3 TO EXISTING GLASS W 70 EXISTING GLASS z
. ! Wy T v T\ g - | N | | §
£ 3
] | § I Lo | 8 Pl | g | - I §
| v R — & Il : : : i | — . A ] g I A— M1 4 g
] As 7 s ] by | L | e T 4% —\ T ﬁ T 1% T 1 2% 1 &
| | | | < SEE SCHEDULE E | | | a { | | iy
FOR Min. I $ [ | = | ! | “a
| N | R SEPARATON | | , g | g I
| o i % | T BTG GLass | g | | | § ! I §
I | | \‘ L | I | I I l ~ | ‘ } W
4 I o W | ~
b | g ) [ | 3 | I ! o
\ IR 7 SENRPC < P | L :
| | 3 o | | : § | | | :
POURED g | | | = POURED . POURED . | | ! | : 5=
CONCRETE OR i o l CONCRETE OF a I | CONCRETE OR S | | 9 ! | 7/8%ax3/32" 7
CONCRETE WA (- [ CONCRETE L | | i | WING NUT ©
BLOCK WALL [ I BLOCK WALL L | BLOCK WALL | - EVERY STUD
REQ'D N | i REQUIRED 1 | REG'D N L1t ' I . 8 12" o.C.
| t
-= ! | L~ === ALTERNATE IF !
‘E/T '\'E | I _/7‘ “$ ; : = ~ f APPLICABLE
1/4"0x7/8" CALK- | | 1/4"6x7/8" CALK—i L ] J RS ‘
ONLY AT ONLY AT CONCRETE ANCHORS ] !
W/ 1/4°9-20 S.S. : W/ 1/4"9-20 S.5. (SEE SCHEDULE) : TR
TRUSS HEAD BOLT * TRUSS’ HEAD BOLT * /F
(SEE SCHEDULE) (SEE SCHEDULE)
W, T. * TRUSS HEAD BOLT TO BE POURED
9/16"8x3 /32" THICK HEAD CONCRETE i
= SECTION 7 ¢ MACHINE SCREW W/ LENGTH ; WALL MOUNTING INSTALLATION REQUIRED T £o
M AS PER NOTES A2 & B.2 — SECTION 8 ED.
SCALE: 3/8" = 1 ON SHEET 1. = SECTION 9 ' €D

SCALE: 3/8" = 1" CONCRETE ANCHORS

(SEE SCHEDULE)

f MAX PANEL LENGTH LIMITED TO 84" IF BOTTOM

SCALE: 3/8" = 1°
SUBSTRATE IS CONCRETE BLOCK

Bivision

l M
| L | ED. = EDGE DISTANCE - / 10
| L | (SEE SCHEDULE ON
I L : SHEET 12 OF 15)
- |
- I
g || l N
POURED CONCRETE OF - [ FLOOR/WALL MOUNTING SECTIONS CAN BE COMBINED IN - N 22 3 -1y
WALL REGUIRED : : | ANY WAY TO SUIT ANY INSTALLATION. R, Zoog
I I “H- :
7/ | M e " :
| adeProduct Contrg

VALID FOR NON INSIDE ACCESS PANEL &
INSIDE ACCESS (ADJACENT) PANELS

CONCRETE ANCHORS
(SEE SCHEDULE)

F.B.C. (High Velocity Hurricane Zone)

1/4° ¢— ¢ -
Y sk w7 MOUNTINGS ©2005_TILTECO, NG 0.0295" THICK GALVANIZED STEEL DRAWN BY
Cont e Wl STORM PANEL S,
) 12* 0. C. 06/19/05
/ IlL | ECOnec. \ ALUFAB HURRICANE SHUTTERS, INC. e
6355 N.W. J6th. St, Ste. 3OS, VRGN 3
M[AL‘AHQI! - SEQ “QN QA f @g/@\ Phane ; (305)871-1530 . Fax : (305)871-1531 OPA—-LOCKA, FL 33054 05-145
e > o—mail: titeco®eool.com DRAWING No
SCALE: 3/8" = 1" 1 EB—0006T719 r e RV, No mﬂ::‘_ “/T;,ru; u'v;u- DESCRIPTION DATE
n oo - WALTER 4, FILLIT Jr., P. E 7 - - - -
NOV @ %/ 2005 FLORIDA Ll‘é. F ] ;4167 r GE__AER‘L Tl - 4 - - SHEET 6 OF 15




§§1/4" Max. GAP

ADJACENT
PANEL (1)

(4)1/4"9x1" S.S. SIDEWALK BOLT, W/

3/4" SLOTTED HEAD, FIXED TO INSIDE

ACCESS PANEL (T) THRU HOLE W/ 7/8"%

X 3/32" WASHERED WING NUT AT REAR

WHOSE WINGS HAVE BEEN BROKEN OFF. ___ anJACENT

(SEE DETAIL X) PANEL (1)

INSIDE
ACCESS 1/4" Max‘EAP
PANEL N

/_\W\

SECTION B-B

. ' 776 SCALE : 1 1/2" = 1" ANNNNNARRRNS
+~
(4)1/470x1" 5.5. SIDEWALK BOLT, " 7'A7°B ’ 7/8 =
Dl sars et e
ESS PANEL Q) THRU
ADJACENT Img% ;45;:_: 3432" WASHERED, _@ZVCSZ\DEgS <——-MIN‘TOSEé;L'?4R;g70N——’ g
R WHOSE WINGS
PANEL HAVE BEEN BROKEN OFF. (SEE PANEL gﬁ#E([:‘_ENT (SEE SCREDULE) 2
DETAIL X) ! =
Q
° [ [) ) ° @ @ ° o/ ) W
- ~1Tr— - e s e et et e e e \l
T ‘f' (4)1/4%0x1" S.5. SIDEWALK BOLT, 8
: W/ 3/4" SLOTTED HEAD, FIXED TO Q
: INSIDE ACCESS PANEL (D THRU X
i HOLE W/ 7/8"8X 3/32" WASHERED (,Uj
) WING NUT AT REAR WHOSE WINGS (4)1/4"9x1" 5.S. SIDEWALK BOLT,
! HAVE BEEN BROKEN OFF. (SEE & W/ 3/4" SLOTTED HEAD, FIXED TO
I\ A j 4 DETAIL X) ¢ INSIDE ACCESS PANEL ) THRU —
L : . = HOLE W/ 7/8"eX 3/32" WASHERED
i T WING NUT AT REAR WHOSE WINGS
H g HAVE BEEN BROKEN OFF. (SEE
; > DETAL X)
| W
é : a
@ o
f | 3
O RO (T T T g
\T | el e el :
! S o
= W
L’ 7/6 I'" 7’A,7°8 P 7/ S A S S g
1 1/2°% 1% NOTCHED BOTTOM POURED Q
CORNERS OF INSIDE ACCESS CONCRETE

—’[ ©2005 TUTECO, INC 0.0295" THICK GALVANIZED STEEL DRAWN BY
ey q—/_® INSIDE STORM PANEL MC.v.
j“ ACCESS
' " 06/19/05
1075 PANEL / I||- I ECO nc. \ ALUFAB HURRICANE SHUTTERS, INC. e
4 TILLWIT TESTING & ENGINEERINGE COFA_Z(IJ?;DI:YJJ’“ 13000 N.W. 38th AVE.
8. W, 8. N ¢
nim O N 15 o5 OPA-LoCKA, FL 33054 05~ 145
TAI X -~ TI N 4 ’ Division . B a~mail: t/lteco@ao/ com DRAWING No
EB-~-0006719 REV. No DESCMIPTION OATE REV. No OESCRIPTION DATE
SID WALK BOLT @ I E ACCESS PA EL NU\/ @ 9 2005 WALTER A. TILLIT Jr., P. E. 1 oLD 03-244  P6/19/08 3 SHEET 7 OF 15
FLORIDA Lic. # 44167 2 SENERAL 10/6/05 .

PANEL AT ADJACENT PANELS (TYP.

INSIDE ACCESS PANEL INSTALLATION

ELEVATION

SCALE :

.0295"

I

WING NUTS WHOSE
WINGS HAVE BEEN
BROKEN OFF

N WASHERED WING NUT AT REAR WHOSE
N\, \ WINGS HAVE BEEN BROKEN OFF.
{ \\Y—L

1 7/2» = 71:

CONCRETE ANCHORS
(SEE SCHEDULE) \

b

POURED
CONCRETE
REQUIRED

A

# 14 WOOD SCREWS @
6" 0.C. W/ 1 1/2" Min.
THREADED PENETRATION TO
EXISTING WOOD HEADER.

WOOD HEADER
REQUIRED

MIN. SEPARATION
. TO GLASS
(SEE SCHEDULE)

.500”"

) OR CONCRETE
BLOCK WALL
REQUIRED

1/4"8x 7/8" CALK—IN
ONLY AT €A W/ 1/4"8-20 S.S.
TRUSS HEAD BOLT * (SEE SCHEDULE)

* TRUSS
1/4"0x1" S.S. SIDEWALK BOLT, W/ 3/4”
SLOTTED HEAD, FIXED TO INSIDE ACCESS
PANEL (D) THRU HOLE W/ 7/8%ex 3/32"

MACHINE

9/16"9x3/32" THICK HEAD

AS PER NOTES A2 & B.2
ON SHEET 1,

REMOVABLE INSIDE ACCESS PANEL

Max. PANEL LENGTH (SEE SCHEDULE ON SHEET 11)

N\~ @ MIDWIDTH OF PLATE

N\—aiL PONT SCREW, BOLT AND SPECIALTY
CO. 31/64” LARGE DIAMETER x 8, 32
SWALL DIAMETER /32"LONG 2
BUSHING AT W/ 1/4%
2" S.SMS. @ 6" 0. c.

HEAD BOLT TO BE

SCREW W/ LENGTH

INSTALLATION SECTION 7'A T

SCALE :

7/211 =

T MAX PANEL LENGTH LIMITED TO 84" IF BOTTOM

SUBSTRATE IS

CONCRETE BLOCK

F.B.C. (High Velocity Hurricane Zone)

REMOVABLE INSIDE ACCESS PANEL

INSTALLATION SECTION 7°B

SCALE :

12" = 1"




ADJACENT
PANEL

§1/4 " Max. GAP

1/4"8x1” S.5. SIDEWALK BOLT, W/

3/4" SLOTTED HEAD, FIXED TO
INSIDE ACCESS PANEL (D THRU

HAVE BEEN BROKEN OFF. (SEE

DETAIL X) INSIDE
ACCESS
PANEL (D

/\

HOLE W/ 7/8"8x 3/32" WASHERED
WING NUT AT REAR WHOSE WINGS

ADJACENT
PANEL (D

1/4" Max. GAP

.

POURED

P 8/6

(8)1,/4"2x1" S.5. SIDEWALK
BOLT, W/ 3/4" SLOTTED

SECTION B-B

SCALE : 1 1/2" = 1"

P sa88

CONCRETE
REQUIRED

ENNNNN

?ONCRET 3 ANC/-)IORS
SEE SCHEDULE,
XL

(P4

1/4” 8-20 x 3/4"
S.S. BOLTS W/

U

# 14 WOOD SCREWS @ 6” 0.C. W/
1 1/2" Min. THREADED PENETRATION
TO ‘EXISTING WOOD HEADER.

1/4" 9-20 x 3/4"

........

L

NNNN\N

@ THRU HOLE W/ 7/8"8 x
3/32" WASHERED WING NUT AT
REAR WHOSE WINGS HAVE BEEN
BROKEN OFF. (SEE DETAIL X)

HEAD, FIXED TO_INSIDE ’ 8/6
ACCESS PANEL (1) THRU
HOLE W/ 7/8"8X 3/32"
ADJACENT | WASHERED WING NUT AT
PANEL REAR WHOSE WINGS HAVE INSIDE
BEEN BROKEN OFF. (SEE ACCESS ADJACENT
DETAIL X) ——— PANEL /'@ PANEL
{o 5] ) o <] ) ] 7 Q o]
= = _t o 2 e/ | |l
S @®
‘ ®
(4)1/4%ox1"
A A A
ai T ¥
1
f @
[ @]
-{ 4 @
P s/5 P 34,88 P s/6

11/2% 17,

NOTCHED TOP AND

BOTTOM CORNERS OF INSIDE ACCESS
PANEL AT ADJACENT PANELS (TYP.)

INSIDE_ACCESS PANEL INSTALLATION

ELEVATION

SCALE : 1 1/27 = 1"

(4)1/4"8x1" S.S. SIDEWALK
8OLT, W/ 3/4" SLOTTED HEAD,
FIXED TO INSIDE ACCESS PANEL

W/ 3/4" SLOTTED HEAD, FIXED
TO INSIDE ACCESS PANEL

THRU HOLE W/ 7/8"¢ x 3/32"
WASHERED WING NUT AT REAR
WHOSE WINGS HAVE BEEN
BROKEN OFF. (SEE DETAIL X)

Min.  SEPARATION
TO GLASS
(SEE SCHEDULE)

J/32" WASHERED WING NUT AT
REAR WHOSE WINGS HAVE
BEEN BROKEN OFF.

: 10 ss. BOLTSJ;V/
. ] 7 Bn X 3 »
b CONT. V%N.G NUT @
’ 12" 0. C
| b ) it
<. IO R i
<
(Y 9
QI K I
N i
il i
Eod MR NI i
St i
2 WOOD HEADER i
¥ 3 REQUIRED i
Min, SEPARATION i
TO GLASS it
(SEE SCHEDULE) E'}
(4)1/4"8x1" S.S. SIDEWALK il
BOLT, W/ 3/4* SLOTTED HEAD, i
FIXED TO INSIDE ACCESS PANEL i
Q) THRU HOLE W/ 7/8"% x

::::::::

S.S. SIDEWALK BOLT,

4
N.TS.

TO INSIDE ACCESS PANEL ©

WHOSE WINGS HAVE BEEN

POURED LN
CONCRETE a

OR CONCRETE &

BLOCK WALL

REQUIRED ]

Max. PANEL LENGTH (SEE SCHEDULE ON SHEET 11)f

(4)1/4"0x1" S.S. SIDEWALK BOLT, _i
W/ 3/4" SLOTTED HEAD, FIXED

THRU HOLE W/ 7/8%8 x 3/32"
WASHERED WING NUT AT REAR

BROKEN OFF. (SEE DETAIL X)

4
NTS.
EQ

£Q

ONLY AY
TRUSS HEAD BOLT * (SEE SCHEDULE)

R

Max. PANEL LENGTH (SEE SCHEDULE ON SHEET 11)

\\ @ MIDWIDTH OF PLATE

274
LAT
QUIR

ALL POINTS SCREW, BOLT AND SPECIALTY
0. 31/64" LARGE DIAMETER x
" | SMALL DIAMETER x 25/32°LONG
= {ALLOY WOOD BUSHING AT @ OR
‘V1/4"6-20 x 2" S.S.MS. @ 6" 0. C.

9/32"
¢
&'

S “russ o s oe | REMOVABLE INSIDE ACCESS PANEL
WING NUTS WHOSE -7 MACHINE SCREW W/ LENGTH /N S T A L LA T/O N SEC T/O N 8 : A
PR T\ o S 1 e vy T f REMOVABLE INSIDE ACCESS PANEL
L) » ” . - ,
AN boeet a3, Smam B w 3e. INSTALLATION SECTION 8B
i \‘\ \\ ﬁﬂ%’ﬁéﬁ%ﬂm@ gg%EAy{?Eiégv%)gE/ 7z ‘]' MAX PANEL LENGTH LIMITED TO 84" IF BOTTOM SCALE 7/2 =1
|- 1/‘ WINGS HAVE BEEN BROKEN OFF. SUBSTRATE IS CONCRETE BLOCK
;3 [ | o Hum
o F.B.C. (High Velocity Hurricane Zone)
T / I i NSIDE ©2005 TILTECO, INC 0.0295” THICK GALVANIZED STEEL DRAWN BY
warslen]” /@ ACCESS STORM _PANEL M.C.V.
/ '"— lE C O nc. \ ALUFAB HURRICANE SHUTTERS, INC. A
o S TILLIT TESTING & ENGINEERIP;G COFAZLI;QDI:YJJ’” 13000 N.W. 38th AVE.
DETAIL X — INSTALLATION OF 1/4"x1” i I Rl oo iy OPA=LOCKA, FL 33054 05145
E W K B T SI CC P @?6?@““ s—m?g—%lg)%oﬁ ;oj.com REV. No DESCRIPTION DATE REV. No DESCRIPTION DATE DRA WING No
Mﬂ“""“"*‘b WALTER A. TILLIT Jr., P. E. ] OLD 03-24¢  pe/19/08 3 SHEET B OF 15
N@\/ &S 2005 FLORIDA Lic. # 44167 2 GENERAL 10/6/05 4




1/4"8x1” S.S. SIDEWALK BOLT, W/
3/4" SLOTTED HEAD, FIXED TO
INSIDE ACCESS PANEL (D) THRU

HOLE W/ 7/8"8X 3/32" WASHERED
WING NOT AT REAR WHOSE WINGS é%‘fffg
HAVE BEEN BROKEN OFF. (SEE

DETAIL X) INSIDE
ACCESS
PANEL (D

/\

SECTION B-B

SCALE : 1 t/2” = 1"

ADJACENT
PANEL

§§1/4" Max. GAP

1/4" Max. GAP

RS

(4)1/4"8x1" S.5. SIDEWALK
BOLT, W/ 3/4* SLOTTED

HEAD, FIXED TO_INSIDE
ACCESS PANEL (D) THRU
HOLE W/ 7/8"dx 3/32"

ADJACENT WASHERED WING NUT AT

PANEL REAR WHOSE WINGS HAVE INSIDE
BEEN BROKEN OFF. (SEE ACCESS f;%i_(iENT
DETAIL X)

PANEL

]

A A
Y ‘T V7
=d @

@ | | & T
) a . LU

P sa/6 \ L’(SA)'A, (se)s  LPpsass

BOTTOM CORNERS OF INSIDE ACCESS

1 1/2° 1", NOTCHED TOF AND
PANEL AT ADJACENT PANELS (TYP.)

YL
P @

Tolo—@

INSIDE ACCESS PANEL INSTALLATION
ELEVATION

SCALE : 1 1/2" = 1"

.0295"

I
WING NUTS WHOSE

WINGS HAVE BEEN
BROKEN OFF —\
oAy 1/4"ex1" S.S. SIDEWALK BOLT, W/ 3/4”

\ SLOTTED HEAD, FIXED TO INSIDE ACCESS
PANEL (D THRU HOLE W/ 7/8"ex 3/32"

[l
1 7
/’( /
/

875" @
438" &

WASHERED WING NUT AT REAR WHOSE
i

WINGS HAVE BEEN BROKEN OFF.
J ~ INSIDE
r“ ACCESS
.1875" PANEL

DETAIL X — INSTALLATION OF 1/4"x1”
SIDEWALK @ IN ACCESS PANEL

(4)1/4"8x1" S.S. SIDEWALK BOLT,
W/ 3/4" SLOTTED HEAD, FIXED
70 INSIDE ACCESS PANEL (D
THRU HOLE W/ 7/8"® x 3/32"
WASHERED WING NUT AT REAR
WHOSE WINGS HAVE BEEN
BROKEN OFF. (SEE DETAIL X)

SIS

POURED /
CONCRETE aQ /
OR CONCRETE oy

BLOCK WALL /
REQUIRED

7
CONCRETE ANCHORS/ 7

(SEE SCHEDULE)

4
N.T.S.

Max. PANEL LENGTH (SEE SCHEDULE ON SHEET 11)

12”0, C.
REMOVABLE INSIDE ACCESS PANEL

INSTALLATION SECTION (8A)A

= 1"

SCALE : 1/2"

(4)1/4"ex1" S.S. SIDEWALK

BOLT, W/ 3/4" SLOTTED HEAD,
FIXED TO INSIDE ACCESS
PANEL (D THRU HOLE W/ 7/8"
# x 3/32" WASHERED WING
NUT AT REAR WHOSE WINGS
HAVE BEEN BROKEN OFF. (SEE

}Max. PANEL LENGTH (SEE SCHEDULE ON SHEET 11)

Y
DETAIL X) +5
=l
Ty
gt VI L 4
Y2
ZhnY L
] il -
UIR
% # 14 WOOD SCREWS \___ , . 20 x 34"
% @ 6" 0C W/ 1 1/2" 57/54 oLes f,‘,/
Min. THREADED S /
I Sl T / PENETRATION 70 s T &
VACHIE Scre 1/ LeNT /| A\ MIDWIDTH OF PLATE, 72" 0. C.
AS PER A .,
ON SHEET 1. “8
REMOVABLE INSIDE ACCESS PANEL
INSTALLATION SECTION (8B)’B
SCALE : 1/2" = 1"
F.B.C. (High Velocity Hurricane Zone)
©2005 TILTECO, INC 0.0295" THICK GALVANIZED STEEL DRAWN 8Y
STORM PANEL M.C.V.
06,/18,/05
/ |||- ' ECOixc. \ ALUFAB HURRICANE SHUTTERS, INC. i
JSSTILLIT TESTING & ENG/NE[lehég‘mgoggng:YJJ’s& 13000 N.W. 38th AVE.
8. A , St., Sta. 305, VIRGINIA GA A
@“:z.(:-@\ N:;::ift? (§:75):‘71—31530 .Rgax : (305)871-1531 OPA—LOCKA, FL 33054 05-145
R o B e—mail: tilteco@aol.com DRAWING No
) R EB-0006719 REV. No ;::cx_n:i os/n;‘g’;os m;m DESCRIPTION DATE
NOV 69 2005 Y oo L. g 44167 P T 2 SHEET 84 OF 15




REMOVABLE HANDLE ON THE
INTERIOR SIDE OF INSIDE ACCESS
PANEL TO FACILITE THE OF LA.P.

INSTALLATION. (TO BE REMOVED
AFTER INSTALLATION)

INSIDE

ADJACENT- / >
§T“ Mox. 64P PANEL () / N\ gilfltﬁ:fS@

1/4” Max. GAPEE

|‘/
\

A WAYAN

N, 4

\\~--{/ /
DETAIL 1 TOP j

[ SECTION B-B
DETAIL 1 TOP

AND BOTTOM SCALE : 1 1/2" = 1"
AND EACH END.

ADJACENT "9/5 P o'r9
PANEL INSIDE
—-@ACCESS
_— PANEL

AND BOTTOM
AND EACH END

<

<

POURED
CONCRETE
REQUIRED

ANNN

CONCRETE ANCHORS
(SEE SCHEDULE) ~._

/6 P o'a9%B

INSIDE ACCESS PANEL INSTALLATION a

WCBUCY REVISED BLOCK WALL
with the Flori@®prou/RED

ELEVATION

SCALE : 1 1/2" = 1"

(1)1/4"8 -20 x 2" BOLT

5\05‘-,003 ’7

By, ﬂ’;{%ﬁ% ~—
h un Dade £foduss Con

AND HEX NUT (AT TRACK), BLOCKING
END PANELS FROM SLIDING OUT.

7
s S
t"’. Cont. ‘
\ POURED
N CONCRETE
R 3 OR CONCRETE
Q' © 3 BLOCK WALL
REQUIRED

e

\L\\\

% I %

(SEE SCHEDULE)

DETAIL 1 _TOP

SCALE :

1 7/2:: = 7:1

ED

ANNNNNNN

CONCRETE ANCHORS —/

AN

DETAIL 1 BOTTOM

CONCRETE ANCHORS

(SEE SCHEDULE) \

[
L

POURED
CONCRETE
REQUIRED

ANNNNNAN

3

ol

N RD N

\

REMOVABLE HANDLE ON THE
INTERIOR SIDE OF INSIDE

ACCESS PANEL TO FAC/LITE—‘\

THE OF I.A.P. INSTALLATION.
(TO BE REMOVED AFTER

Min. SEPARATION
[e——— 7O GLASS

(SEE SCHEDULE)

# 14 WOOD SCREWS @
LW/ 1 1/2” Min.
THREADED PENETRATION TO
EXISTING WOOD HEADER.

.500*

2.000”
Min,

A

875"
Max.

=

REQUIRED

REMOVABLE HANDLE ON THE
INTERIOR SIDE OF INSIDE
ACCESS PANEL TO FACILITE—

THE OF IA.P. INSTALLATION.
(TO BE REMOVED AFTER
INSTALLATION)

WOOD HEADER

Min. SEPARATION
TO GLASS
| (SEE SCHEDULE)

INSTALLATION) ;l\//
e ST,
CONCRETE

OR CONCRETE

ED

Max. PANEL LENGTH (SEE SCHEDULE ON SHEET 11)

r
T

CONCRETE ANCHORS—/

(SEE SCHEDULE)

REMOVABLE INSIDE ACCESS PANEL

T T
u b

.500"

ANNNY \m\ ANNN

CONT.

INSTALLATION SECTION 9°A

(1)1/4"8 ~20 x 2" BOLT
AND HEX NUT (AT TRACK), BLOCKING
END PANELS FROM SiLIDING OUT.

-

SCALE :

NOV &9 2005

1/2" = 1

EQ

Max. PANEL LENGTH (SEE SCHEDULE ON SHEET 11)——

500

R

2%4\ ’
LAT N
QUIR

N

-

<IN\ # 14 wooD SCREWS @

THREADED PENETRATION TO
@ MIDWIDTH OF PLATE.

N
REMOVABLE INSIDE ACCESS PANEL

INSTALLATION SEQ TION 9'B

SCALE :

F.B.C. (High Velocity Hurricane Zone)

@ 2005 TILTECO, INC

/TLTECO we \

WALTER A, TILLIT Jr.,
FLORIDA Lic. # 44167

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. 36th. St, Ste. 308, VIRGINIA GARDENS, FLORIDA 33166
Phone : (305)871-1530 . Fox : (305)871~1531
e—mail: tilteco@ool.com

EB-0006719

0.0295" THICK GALVANIZED STEEL ORAWN BY
STORM PANEL M.C.V.
06/14,/05
ALUFAB HURRICANE SHUTTERS, INC. DATE
13000 N.W. 38th AVE.
OPA—LOCKA, FL 33054 05—145
DRAWING No

DESCRIPTION DATE

P. E

OLD 03-244 5/19/05

GENERAL 10/6/05

SHEET 9 OF 15




(4)1/4"x1” S.S. SIDEWALK BOLT, W/ T \“" .
3/4" SLOTTED HEAD, FIXED TO INSIDE N [/ . 4 14 WOOD SCREWS @
ACCESS PANEL @ THRU _HOLE W/ N .' 6" 0.C. W/ 1 1/2” Min.
ADJACENT :/TBRZ;XRJ@ZO < EWAV?;IXIEG_‘,;‘E/D-IAV\L@I% E/\E/%T ADJACENT ?‘ONCRETE ANC/-)/ORS § ) /] . THREADED PENETRATION TO
SEE SCHEDULE, ; EXISTING WOOD HEADER.
PANEL BROKEN. OFF . PANEL @ \ N ; 1,
INSI .
1/4" Max. GAP ACCESS 1/4” Max. GAP ' Q ijl z §1 ‘ ’% % / .
PANEL N3 @ 5
I. o _.l s I A L t ] | E %
. - X .
/—\ POURED S § ¢ S & !
CONCRETE N 4 SENIE
N il
REQUIRED § A ¢ ‘ E'
SECTION B-B EANNNNANNNNN > Dr'l_D I ccont. 2
Y . = WOOD HEADER -
SCALE : 1 1/2" = 1 N REQUIRED &
g g ¢
~—(SI;'E SCHEDULE) %] __Mm.r OSEg&Rg/ON il %
% (SEE SCHEDULE) i E z
! ifs 1 Q
P 10/6 P i0'a10'8 P 10/6 4 ';H\ ' Y
=) D
Q Q
ADJACENT INSIDE g 8
PANEL —@ACCESS @ ADRCENT 5 T
PANEL A ]
fe 1o [ ) ° ° ° ° 2 \ o o} Ly W
[ i \ | A a
— . —
(4)1/4"8x1” S.S. SIDEWALK “ - s o <
BOLT, W/ 3/4" SLOTTED K I (4)1/4"8x1” S.S. SIDEWALK 2 =
HEAD, F/{(ED/TO NSIDE_ = ® %BOLT, W/ 3/4" SLOTTED — Ezi
ACCESS PANEL (D THRU - 3 jgéDE's ;/);i% Ezo @/N;s;//% g
A ¥ %ﬁéﬁs%y %/ilcﬂ);vir/izr §H0LE W/ 7/8"8x 3/32" | — §
4 REAR WHOSE WINGS HAVE & WASHERED WING NUT %/E i g
BEEN BROKEN OFF. (SEE i REAR WHOSE WINGS H » o7
S BEEN BROKEN OFF. (SEE 7/8” x 3/32" x
DETALL X) = 4 WING NUT @  §
® @® ” . DETAIL X) = RY STUD
} g 7/8" x 3/32 W G)— 2 EVE
@ | ® 3 e N ﬁ/ogo GDECK -
g 2 n EVERY STUD
it ) = < ;I REQUIRED | {
i f i i d o onen! \
1 1 i i N ALLOWED
U i U U :
10°A,10°B P 10/6 4
1.1/2" x 1" NOTCHED

T
POURED CONCRETE ANCHOR_Q/

INSIDE ACCESS PANEL INSTALLATION pouren " concrere o
MAILQ_N_ REQUIRED -

SCALE : 1 1/2" = 1"

S
7/

ED 7

BOTTOM CORNERS OF
INSIDE ACCESS PANEL AT
ADJACENT PANELS (TYP.)

P F—

i
IR \_ #14 WOOD SCREW
W/ 1 1/2 Min. THREADED

REMOVABLE INSIDE ACCESS PANEL

PENETRATION @ 5" O.C.

- ’
T INSTALLATION SECTION 10°A REMOVABLE INSIDE ACCESS PANEL
INGS HAVI N ” ”»
BROKEN OFF 1/4°0x1" S.S. SIDEWALK BOLT, W/ SCALE : 1/2" = 1 /N.STA L_L__ A T/QN SECT/QN ]0’5
\_. 3/4" SLOTTED lél:)‘AD, FIXED TO /N/S/DE SCALE : /2" = 17
e = ACCESS PANEL (D THRU HOLE W, :
AN 7/8"8X 3/32” WASHERED WING NUT
' | ) A/T REAR {/HOSE WINGS HAVE BEEN
A BROKEN OFF.
58 I‘I'III‘IH“H“H o e F.B.C. (High Velocity Hurricane Zone)
J PRODUCT REVISED
l 1/ Doy oy the Florida ©2005 TILTECO, INC 0.0295" THICK GALVANIZED STEEL oRANN B
.(J / ~:/_® INSIDE ’ ) STORM PANEL LG/M.C.V.
- ACCESS
.1875" PANEL Bz £ 0, o9 / I I L IE c o INC \ 06/19/05
. ALUFAB HURRICANE SHUTTERS, INC. DATE
I %Byﬂ /1. TILLIT TESTING & ENGINEERING COMPANY 13000 N.W. 38th AVE.
ﬁ&dm; ades Prdduet Control 6355 N.W. 36th. St, Ste. 305, VIRGINIA GARDENS, FLORIDA 33166 OPA—LOCKA, FL 33054 05__ 745
FRGEL one ! - . Fox : 71— !
DETAIL X — INSTALLATION OF {1/4"x1" Bivision (mmmed " i scomsaiiom I S ———— Yy Y
SIDEWALK BOLT @ INSIDE ACCESS PANEL ) WALTER 4 TILIT o, P E. PR I T W SHeeT 10 oF 19
NOY 0 92005 FLORIDA Lic. f 44167 2 GENERAL 1o/6/05) 4




MAXIMUM DESIGN PRESSURE RATING "W” (p.s.f.) AND CORRESPONDING MAXIMUM ANCHOR
SPACING SCHEDULE FOR INSTALLATIONS INTO CONCRETE AND MASONRY STRUCTURES *

MAM_ML_MESURE RATING ”W” (D.S.f.__)_ANQ MAXIMUM MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2” # ,;;;Z%?gl_i r‘c‘) Mgz(m_tzu |D MAXIMUM MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2” #* g@gg&; r‘c‘) Mé,)qt/l\%iM
CORRESPONDING MAXIMUM _PANEL LENGTH SCHEDULE |'V%.7 oomars st s s | " cototiron | - izncrs D e e e e R e R W
12" 12* 12" 12* 12* 12" 1 (ToP) 12” 12" 12” 12* 12" 11 172" 1 (TOP)
MAXIMUM DESIGN Max. PANEL MINIMUM APPLICABLE TO - - 12" 12" 12" 12” 1 (BOTTOM) - - 12* 12” 12" 6" 1 (BOTTOM)
PRESSURE RATING LENGTH () SEPARATION TO SECTION # AND ANY
W (p.s.r.) (SEE SECTIONS) GLASS " COMBINATION OF THEM - - 12" 12" 12" 12" |2 (ToP & BOTIOM) - - 12" 12* 12" 6" 2 (0P & BOTTOM)
+90.0, ~90.0 8'-0" 2 3/4” 1 THRU 6 12 N 2 - 12’ - [Hewam 1z N 2 _ 2 B ol
12" 7 1/2" 11" 7" 12* 6 1/2" §34 & 38 (B0TTOM) 12* 7" 10" 6 172" 12" 6" 34 & 38 (B0TTOM)
+72.0, —=72.0 <5'-6" 3 12 9, 94 & 98 12" 12" 12" 12" 12" 12" 4 (ToP) 12" 12" 12" 12 122 |11 1727 4 (o)
+72.0, =72.0 | >8'-0" 10 8°'-6" 3 1/8” 1 THRU 6 +45.0, -45.0f 12" 12* 127 12" 12" 12* 4 (BOTTOM) 8'-9" 720, -720) 12" 12" 12" 12" 12” 11 1/2"| +4 (sorTOM) 6'~0"
+66.0, —66.0 | >8'-6" 10 8'~9" 3 1/8" 1 THRU 6 12° 12" 12" 12* 12" 12" | 54 & 58 (TOP) ngs 12" 12" 12" 12" 12 | 11 1/2" | 54 & 58 (TOP) L‘Z_’;s
— . A 75 5 A 5 - - 12" 12" 12" 12" 5A (BOTTOM) - - 12” 12” 12” 6” 5A (BOTTOM)
+66.0, —66.0 8-9 3172 (&Z)A (84)B, 10, 104 & 10'8 - - 6 6" 6" 6" 58 (80TTOM) - - 6" 6" 6" 6" 58 (BOTTOM)
+45.0, —45.0 |>8-9" 10 10'-0" 3 1/8” 1 THRU 6 12" 12" 12" 12" 12" 12" 64 & 68 (TOP) 12" 12" 12" 12* 12" 11 1/2" ) 64 & 68 (TOP)
12" 12" 12" 12" 12" 12" 6A (BOTTOM) 12" 12* 12" 12" 12” 11 1/2"} sA (BOTTOM)
9" 4" 8 1/2” 4" 9 12" | 3 1/2" 68 (BOTTOM) 9" 4" 8 1/2” 4" 9 1/2" | 3 1/2" | 68 (BOTTOM)
] 12" 11 1/2" 12" 11 1/2" 12” 1" 1 (ToP) 12" 5 1/2" 12" 5 12" 12" 1/2” 1 (T0F)
'|' MAX PANEL LENGTH LIMITED TO 84" IF BOTTOM SUBSTRATE IS CONCRETE BLOCK - - o o o o Pa— - ~ 12" po - pe B —
- - 12” 6" 12* 6” 2 (TOP & BOTTOM) - - 12” 6” 12" 6” 2 (T0P & BOTIOM)
12" - 12" - 12" - JA & 38 (TOP) 1" - 8 1/2" - 10 1/2" - M & 38 (TOP)
12" 6 12"} 9 1/2" 6" 12" 5 1/2" |3 & 38 (50TTOM) 8 12" 5* 7" 4 172" 9" ” JA & 38 (BOTTOM)
E. D. = EDGE DISTANCE " ” N
127 | 1r2n) oz 1112t 12 1" 4 (ToP) [ 12" 1/2 12" 8 1/2 12" 4 (T0P) 560"
450, -450] 12" 11 1/2" 12" 11 1/2" 12" 1" 4 (80TTOM) T0 +72.0, =72.0§ 12" g 1/2* 12* 8 1/2" 12” " 4 (B0TTOM) TO
ANCHORS LEGEND 12" 1127 12v 11 1/2"]  12v 11" | 5 & 58 (ToP) 10°-0" 12" 1/2" 12" 5 1/2" 12" 51/2° |\smaemmom)] °°°
ANCHORS ANCHOR - - 12" 6" 12" 6" 5A (BOTTOM) - - 12* 6" 12" 6" 54 (80TTOM)
YPE SPA/;’?;}VG - - 6" 6" 6" 6" 58 (BOTTOM) - - 6” 6 6" 6" 58 (BOTTOM)
TAPCON 3'0: 12” 1 1/2" 12" 1 1/2" 12” 11” EA & 6B (TOP) 12* 5 1/2" 12* 5 1/2" 12” 5 1/2" | 64 & 68 (TOP)
ij/é‘fh;g/: iz 12" 1M 12" 12" 11 1/2" 12" 1" 64 (50TTOM) 12" 8 1/2” 12" 8 1/2" 12" 8" 6A (BOTTOM)
9” 4" 8 1/2" 4* 9 1/2" | 3 1/2" | 68 (orTom) - - - - - - 68 (BOTTOM)
12" 7" 12" 7" 12" | 6 1/2" 1 (ToP) 7 1/2 - 7 - 7 172" - 1 (107)
X SEE SHEET 13, 14 & 15 OF 15 FOR ANCHORS TYPE & - -~ 12” 6" 12" 6" 1 (80TTOM) - - 12" 6" 12” 6” 1 (BOTTOM)
SPACING FOR INSTALLATIONS INTO WOOD FRAME BUILDINGS. — ~ - po o RN Py epg— ~ ~ 2" P " P
X X MAXIMUM ANCHOR SPACINGS ARE VALID FOR 5 1/2" EDGE 11 1/2" - 9" - 11" - JA & 38 (TOP) 9” - 7" - 9” - 4 & 38 (TOP)
DISTANCE. FOR E. D. LESS THAN 3 1/2" REDUCE ANCHOR
SPACING BY MULTIPLYING SPACING SHOWN ON SCHEDULE 9” 5" 7 1/2" 5" 9 172" | 4 1/2" | & 38 (s0TTOM) 7" 4" 6* 312"y 7 1/2" | 3 1/2" | » « 38 (0TOM)
BY THE FOLLOWING FACTORS. (NOTE : Min. E. D. FOR CALK—IN ; - N -
ANCHORS IS 2 1/2%). FOR THIS OPERATION TO BE POSSIBLE, 12" 9" 12" 9” 12" 8 1/2" 4 (T0P) 12* 6 1/2" 12” 6 1/2 12 6 4 (10P)
TEDLUED SPACHG JTANED Usits FACTOR SHAL NGT BE o wsd 7 | o |z | o |z |eve| qemmm | e | lwawd 7 | 7 | T 7 | [ vemm] e
TYPE AT ANCHORS LEGEND. 2" i 12" o 12" 6 172" | 5 4 58 (T0P) 7 1/2” - 7 - 7 1/2" - 54 & 58 (TOP)
FACTOR - - 12" 6" 12" 6" SA (BOTTOM) - - 12" 6" 12” 6" SA (BOTTOM)
ACTUAL E. D. - - 6" 6" 6" 6" 58 (BOTTOM) - - ” 6" 6" ” 58 (BOTTOM)
TAPCON/PANELMATE CALK—IN 12° 7 12" 7" 12" 6 1/2" } 6A & 68 (TOR) 7 1/2" _ = _ 7 1/2" _ 84 & 68 (TOP)
3" .86 75 12" 9" 12" 9" 12" 8 1/27 | 64 (BOTTOM) 12" 7" 12" 7" 12" | 6 1/2" | &4 (BoTTOM)
9” 4” 8 1/2" 4" 9 1/2" | 3 1/2" | 68 (BOTTOM) - - 68 (BOTTOM)
2172 71 50 F.B.C. (H/gh Ve/oczty Hurricane Zone)
2" 50 - PRODUCY REVISER ©2005 TILTECO, INC 0.0295” THICK GALVANIZED STEEL DRAWN BY
i "’Jiﬁimfe’mi; . STORM_PANEL .
: oo 0F~10
Fee s pa DL/ LA T2 009 / llL I ECO . \ ALUFAB HURRICANE SHUTTERS, INC. A
‘H , TILLIT TESTING & ENGINEERING COMPANY 13000 N.W. 38th AVE.
Division SV oY EB—0006719 REV. o DESCRPTION ATE_|_miv. % DESGRIPTION DT
NOV 89 2005 Ve loR0i L g 44167 PR =T 1777 SHEET 11 0F 15




MAXIMUM DESIGN PRESSURE RATING "W” (p.s.f.) AND CORRESPONDING MAXIMUM ANCHOR
SPACING SCHEDULE FOR INSTALLATIONS INTO CONCRETE AND MASONRY STRUCTURES IN

SSURE R

ORRESP

SECTIONS 7. 8. 8A. 8 & 10 *

DEA;%X,(/M(LMOJAD TAPCONS CALK~IN g’;’;&;g@@ﬁ Cr? Méx)a(l%fM
W (p.s.f.) TO CONCRETE TO MASONRY TO CONCRETE TO MASONRY o oCFO A;f(?roION e
L” (ft)

12" - 12" - 7 (TOP)
- - 10" 6” t 7 (Borrom) t
8" - 10" - 8 (ToP)

+66.0, —66.0 - - 10" 6" t & (BorToM) t 8-9" t
8" 3 1/2° 10" 4 1/2" 8A (BOTTOM)
12" - 12" - 10 (TOP)
6” - 5” - 10 (BOTTOM) **

+72.0, =72.0 2 _ d _ 9 (1) 5_g”
12”7 7" 12" 10 1/2” 9 (BOTTOM)

1 MAX PANEL LENGTH LIMITED TO 84" IF BOTTOM SUBSTRATE IS CONCRETE BLOCK, APPLICABLE ONLY TO

SECTIONS 7 & 8 AT BOTTOM.

©2005 TLTECO, INC 0.0295" THICK GALVANIZED STEEL DRAWN BY
STORM PANEL Sk V.
iLleco oo
INC. ALUFAB HURRICANE SHUTTERS, INC. DATE
TILLIT TESTING & ENGINEERING COMPANY 13000 N.W. 38th AVE.
6355 N.W. J6th. Sk, Ste. JO5, VIRGINWA GARDENS, FLORIDA 33166
,.m‘“{;:i) Phons ¢ (303)871-1530 - Fax : (305871~ 1331 OPA—LOCKA, FL 33054 05145
<a§;’€"‘) G e-mail: tilteco@aol.com DRAWING No
o EB-0006719 REV, No DESCRIFTION mra; REV, No DESCRIFTION GATE
WALTER A, TILLIT Jr, P. E [ oLD 03-244  115/19/ 3
NOV 6 2005 FLORIDA Lic. # 44167 P CENERAL 10/6/05] ¢ SHEET 12 OF 15

E D. = EDGE DISTANCE
NCHOR N
ANCHOR
ANTCY’;‘E.RS MIN. mn. £0.F
SPACING
TAPCON 3" 2
CALK=IN 2 1/2" 2 1/2¢

+ E D. DOES NOT INCLUDE ANY WALL FINISH

*X MIN. ED.

X SEE SHEET 13, 14 & 15 OF 15 FOR ANCHORS TYPE &
SPACING FOR INSTALLATIONS INTO WOOD FRAME BUILDINGS.

= 3 1/2" REQUIRED

F.B.C. (High Velocity Hurricane Zone)

ﬂwm«




WOOD HEADER

Y= REQ'D.

# 14 WOOD SCREWS @
E"O.C W/ 1 1/2" Min.
THREADED PENETRATION
TO EXISTING WOOD
HEADER.

.250"
Max.

Ll

SEE SCHEDULE
FOR Min,

SEPARATION TO

EXISTING GLASS

Cont,

e

N

# 14 WOOD SCREWS @

6" 0.C W/1 1/2" Min.
THREADED PENETRATION
1O EXISTING WOOD
HEADER.

—1 " 1"

1/4"6-20x1/2" S.S.
MACHINE BOLT W/ NUT &
WASHER @ 12" O.C.

7/8"ax3/32" WING

CONT.

Mox. PANEL LENGTH
(SEE SCHEDULE)

I
|
|
|
|
1
1
N
SEE SCHEDULE |
l FOR Min. ‘ ; .
SEPARATION TO— | | 7/8"9x3/32
EXISTING GLASS i WING NUT &
| ! } EVERY STUD
! -@ 12" 0.C.
| o »
” ~N
[L Cont,

]
|
l
v

Max. PANEL LENGTH
(SEE SCHEDULE)

# 14 WOOD SCREWS @
4" 0.C W/ 1 1/2" MIN.
THREADEL PENETRATION
T0 EXISTING WOOD DECK.

ALTERNATIVE 2A
ADJACENT PANELS

L 2'%6" WooD

DECK REQUIRED

l SEE SCHEDULE FOR Min.

CONT.

SEPARATION TO EXISTING GLASS

NUT @ EVERY STUD
® 12" 0.C.

4%8" (Min) EXISTING WOOD BEAM —— N
REQUIRED. STRUCTURAL ADEQUACY
OF EXISTING WOOD BEAM TO BE
CERTIFIED BY REBISTERED ENGINEER
OR ARCHITECT PRIOR TO SHUTTER

©

Mox. PANEL LENGTH
(SEE SCHEDULE)

REMOVE 2 STUDS AT OVERLAP
BETWEEN INT. REMOVABLE PANEL
& ADJACENT PANEL AND OPEN
1/2"8 HOLES AT (8 TO ACCEPT
STUDS FROM INTERNALLY'
REMOVABLE F:ANEL

I

FLOOR/ WALL/ CEILING MOUNTING SECTIONS CAN BE COMBINED

IN ANY WAY TO SUIT ANY INSTALLATION.

7/8"#x3/32" WING NUT
@ EVERY STUD @ 6" O.C.

SEE SCHEDULE
| FOR Min.

SEPARATION TO
[ EXISTING GLASS

|
l
|
I ®
|
|

Cont.
I

7/8"

L DET. 3/4
INTERNALLY REMOVABLE PANEL (D

W/SIDEWALK BOLT CONNECTED

/\/ro ® T™HRU 1/2"¢ HOLES AT ®

© 12" 0.C & FASTENED AT
REAR W/7/8"8x3/32" WING
NUT @ EVERY SIDEWALK BOLT.

Max. PANEL LENGTH
(SEE SCHEDULE)

< s

f
/

# 14 WOOD SCREWS @

4" 0Cc W/ 1 1/2° MiN.
THREADED PENETRATION
TO EXISTING WOOD DECK.

ALTERNATIVE 28
/ P

SCALE: 3/8° = 1°

Z— 2'x6" WooD
DECK REQUIRED

*x

# 14 WOOD SCREWS A
© 4 1/2°0C W/

1 1/2° Min. THREADED
PENETRATION TO

EXISTING WOOD BEAM

JN\.

INSTALLATION. £Q £Q

r/—EO"'W*"EO

250"
Mox.

1'%%4'%1/8" (Min.) 6063-T6 Alum.

TUBE W/ (3) 5/16"# LAG SCREWS
TO EACH RAFTER OR TRUSS, LOCATE
SCREWS AT MIDWIDTH OF EXISTING
WOOD MEMBER, (2" Min. NOMINAL

WIDTH) W/ 2 1/2" Min. THREADED
PENETRATION.

RAFIER @ 24
REQUIRED

WOOD TRUSSES OR

*o.C.

nﬁi

SEE SCHEDULE I
FOR Min. '

SEPARATION TQ

EXISTING GLASS [

‘ Cont.

!

Max. PANEL LENGTH

o

INTERNALLY REMOVABLE PANEL SHALL BE
PROVIDED W/ AN ADEQUATE REMOVABLE
HANDLE IN ORDER TO INSTALL PANEL.

1 NOTE:

ek NOTE:

INTERNALLY REMOVABLE PANEL SHOWN ON
ALTERNATIVE 2B SHALL ALWAYS BE

INSTALLED IN BETWEEN ADJACENT PANELS
MOUNTED AS SHOWN ON ALTERNATIVE 2A.

“ 0.C.

ﬂ
ll

SEE SCHEDULE
“‘_ FOR Min,
SEPARATION =
TO EXISTING
“ GLASS

|

Q
3 LV ‘
s | ]
8
"]
& .500"—=1 —
N " .
33
“ F14x3/4" N.=|
SMS. @ B
Cont.

Max. PANEL LENGTM
(SEE SCHEDULE)

|

NOIES:

1. INSTALLATIONS ARE VALID ONLY FOR DESIGN WIND LOADS AND
Max. PANEL LENGTHS AS PER SCHEDULE ON SHEET 11 OF |5.

2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE
SOUTHERN PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

st £ (D ot Q]

T~ woop PLATE

REQUIRED

INSTALLATION DETAILS ON EXISTING WQOOD BUILDINGS

F.B.C. (High Velocity Hurricane Zone)

SCALE: 1/4" = 1"
NOTE : SHUTTER TRACKS NOT SHOWN

FOR CLARITY

©2005 TILTECO, INC, 0.0295" THICK GALVANIZED STEEL DRAWN 8Y
STORM _PANEL M.c.V./L.G.
06/19/05
17 / I"- I ECOne. \ ALUFAB HURRICANE SHUTTERS, INC. A
4 oq 5TILLIT TESTING & ENGINEEI;I‘NEMEO#IP‘;;NY 13000 N.W. 38th AVE.
6355 N.W. 36th. St, Sle. 305, VIRGINA CARDENS, FLORIDA 33166
. a vy Phone : (305)871-1530 . Fox : (305)871-1531 OPA—LOCKA, FL 33054 05—-145
L] Lo . ~mait: tiltecoBool.
o4 Comivel ::) ¢ m?g-éa;?;r;;a com REY. Mo DESCRIPTION | oarr | nev. e DESCRIPTION DATE DRAWING No
WALTER A. DLUT Jr., P. E. oLD 03~244  pe/1ssod 1 SHEET 13 OF 15
Nn\! g} 9 2335 FLORIDA Lic, f 44167 % |m/5/p_5| Pl



EQ

EQ

|
|
[
I
l
[
I
I

N N
\ \ ! # 14 WOOD SCREWS @ \ \ ! # 14 WOOD SCREWS @
6" 0.C. W/ 1 1/2" Min, 6" 0.C. W/ 1 1/2" Min.
THREADED PENETRATION THREADED PENETRATION
TO EXISTING WOOD TO EXISTING WOOD
HEADER. HEADER,
Ly wooD
< 3 ’§‘ HEADER
: ‘ REQUIRED
I ] = |
|
|- | ! |
| : | Cont. | |
| l ! |
= | ! |
| ! ! | |
I woop (- ! | t ]
I HADER | ! | |
I REQUIRED - ] Q | ser scueouie | I
i 3 | FOR Min. !
! [ l 8 SEPARATION TO ™ || | I
£ L1 4 | 3 EXISTING GLASS | /\/ |
w0
:l B Y 1 4 N TV
wn
| 1 = " i |
| | I
| | I g | : ? |
| 2 I ™~ | [ DETAIL 3/4
|  see scheoue || | g I 1 ,
| FOR Min. | 1 | o | f
SEPARATION TO | g | l |
| exsve eass || f g I { I
I | . INTERNALLY REMOVABLE PANEL 41 |
| | 3 W/SIDEWALK BOLT (SEE DETAIL 3 ON '
| | 3 SHEET 4 OF 8) CONNECTED TO () THRU | |
| ‘ 1/2°0 HOLES AT (D © 6" 0.C & FASTENED |
n AT REAR W/ 7/8"0x3/32" WING NUT @ l l
| l EVERY SIDEWALK BOLT. ! :
. | I |
|
. l !
- | | |
) | 7/8"8x3/32" , : |
' | WING NUT @ o i [
' I Every sTuD. "y 1
A | g Y ~— __ 7/8"#x3/32"
WING NUT @
i | o f EVERY STUD.
\ g | v ‘ s
: N |

ER \__ 1/4" 8-20 ELCO

MALE/FEMALE PANELMATE

B \-1/4 "8—20 ELCO

s @ 6" 0.C W/ 1 7/8" Wb
2°x4" PLATE PENETRATION TO EXISTING 2'%4" PLATE MALE/FEMALE PANELMATE
REQUIRED WOOD PLATE. REQUIRED ® 6" 0C W/ 1 7/8"
LM \ 4 N P PENETRATION TO EXISTING
{ | WOOD PLATE.
ALTERNATIVE 6A ALTERNATIVE 68

ADJACENT PANELS

ALTERNATIVES 6

INTERNALLY REMOVABLE PANEL**

A\l

ALTERNATIVE 8A
ADJACENT PANELS

PLATE.

14 WOOD SCREWS @
6 0.C. W/ 1 1/2" Min.
THREADED PENETRATION
TO EXISTING WOOD

A~ TV ]
1/4" #-20 ELCO |
MALE/FEMALE PANELMATE L_SEEF(% HEDULE L { 5
BTN T0 EdaminG | EXisime Biass { i [
EXISTING GLASS
- t 1/4"0~20x3/4"
WOOD PLATE. ! =r - :/s{s. MS. w//
» M 3 7/8"9x3/32"
7/8"8x3/32 IE} e L | WI/NG NU4 @
WING NUT ®@ 12" 0.
EVERY STUD. o ! l
by {
: | 1! |
1 ; o vz | R l
| W ARt TLL |
i Q 6
| 2%4” PLATE B AN Cont.
| REGUIRED \_
4

c
!
a'
!
I T
a
:
|
|
|
|

- 1/4"9-20x3/4"
= T S. M.S. W/
7/8"ex3/32" WING

NUT @ 6" O.C.

g SEE SCHEDULE
3 FOR Min. V]
e |~ SEPARATION TO !
Q S EXISTING GLASS - |
3 v o I 2 : |
3 i ! h !
5 e I !
2 £ I |
o] o i
i —A- Ve g i |
~ i | | 3 INTERNALLY REMOVABLE PANEL ! !
= ' o W/SIDEWALK BOLT (SEE DETAIL 3 ON i
(- f Wy |
¢ I - 2 SHEET 4 OF 8) CONNECTED TO () THRU [
4 I | | T 1/2"8 HOLES AT@ @ 6” 0.C & |
o - | * FASTENED AT REAR W/ 7/8"#x3/32" |
f i |
g I - | $ WING NUT ® EVERY SIDEWALK BOLT. !
g SEE SCHEDULE o ] I | !
N | FOR Min. i | -
3 [~ SEPARATION TO - | I |
3 | EXISTNG GLASS | | 1] : | l
—— ,
| B =l
o ~— ! f
e ) | 5 =
S l -
o o
& \ i i g .
- I |
] i \ )
\ 2N j 24" PLATE
o REQUIRED
\ \ i {N—— @ MIDWIDTH OF PLATE #, 14 WOOD SCREWS @
nea PLATE V\A \\ 6" 0.C. W/ 1 1/2" Min.
REQUIRED I\ THREADED PENETRATION
TO EXISTING WOOD
N\ o
A
1

ALTERNATIVE 7

Xk NOTE:

INTERNALLY REMOVABLE PANEL SHOWN ON
ALTENATIVE 68 & 8B SHALL ALWAYS BE

+NOTE:

INTERNALLY REMOVABLE PANEL SHALL BE

M TING |, N INSTALLED IN BETWEEN ADJACENT PANELS PROVIDED W/ AN ADEQUATE REMOVASLE
MOUNTED AS SHOWN ON ALTENATIVE 6A & BA. HANDLE IN ORDER TO INSTALL PANEL.
Bivision F.B.C. (High Velocity Hurricane Zone)
NOTES: ©2005 TILTECO, INC 0.0295” THICK GALVANIZED STEEL DRAWN BY
1. INSTALLATIONS ARE VALID ONLY FOR DESIGN WIND STORM PANEL M.C.V./L.G.
LOADS AND Max. PANEL LENGTHS AS PER SCHEDULE ON / ILIECO \ y
. SHEET 11 OF 15, EXCEPT THAT ALTERNATIVE #7 MUST BE 06/19,/05
NOTE FOR COMBINATION OF SECTIONS: INC. ALUFAB HURRICANE SHUTTERS. INC DATE
LIMITED TO 105" PANEL LENGTH AND + 66 psf DESIGN » .
LOAD. P TILLIT TESTING & ENGINEERING COMPANY 13000 N.W. 38th AVE.
WALL MOUNTING SECTIONS CAN BE COMBINED 6355 N.W. 36th. St, Ste. 305, VIRGIN GARDENS, FLORIDA 33166 OPA—LOCKA, FL 33054 05— 145
IN ANY WAY TO SUIT ANY INSTALLATION. 2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS r&?ﬁ“&:‘)wm — Phone : (306)871-1530 . Fax | (30908711531 RAWING A
TO BE SOUTHERN PINE No. 2, W/ SPECIFIC DENSITY OF — EB-0008719 REV. No DESCRIPTION oATE | REV. Ko OESCRIPTION DATE
0.55 OR EQUAL. ) Pt 9 WALTER A. TILLIT Jr., P. E [ oLD 03-244  fog/19/08) 3
NO\i & 9 2005 FLORIDA Lic. # 44167 2 GENERAL o] 4 SHEET 14 OF 15

ALLOY WOOD BUSHING AT @) OR

ALL POINTS SCREW, BOLT AND SPECIALTY
—— CO. 31/64” |LARGE DIAMETER x 9/32"
SMALL DIAMETER x 25/32°LONG, ZINC

ALTERNATIVE 8B

INTERN,

(017,

1/4"9-20 x 2" SS.M.S. @ 6" 0. C

PROD j*crr REY

Date O QL)

& w/

ALTERNATIVES &8

NEL **




# 14 WOOD SCREWS @
6” 0.C. W/ 1 1/2" Min.
THREADED  PENETRATION

14 WOOD SCREWS @
£, iy TO EXISTING WOOD HEADER:.
6" 0.C. W/ 1 1/2” Min.
THREADED PENETRATION HEADER.
/[ TO EXISTING WOOD 5 :
N HEADER.
! EAD WOOD 3 ] -
HEADER—— < _ < ] o
REQUIRED | ‘
1/4" 9-20 x 3/4" ~ T §§ !
S.S. BOLTS W/ - »
7/8" x 3/32" ; } | } N
wooD WING NUT @ L | Cont.
HEADER 1270 ¢ T L | Cont.
REQUIRED | l I l : ; | !
I | m s [ |
| 1 J : ’ ; :} wooD
B | :L see soueouie || | | JEADER k
G S B R I "
. | S - /\/ I z
E,: |1 [ —- 1 A . I %
! A, || | 8 I | | I ! %“
A 1 [ i | = I =
! - | = I | l g | SEE_SCHEDULE .
i | | & f | Y — separanon o 3
i SEE SCHEDULE I I‘\® g I : | : . | EXISTNG GLASS
h FOR Min. . | o I | | | 2 I " M
i SEPARATION TO 1 i 3 i i a I | _7/8" x 3/32
i EXISTING GLASS 2 | ] . WING NUT @
! | ! : I ! g I 12" 0. ¢
.. ] | § I | | n
" | | | B | I 2” x 6
I } | | : I Cont. = WOOD DECK
| ] ! REQUIRED
B ' =T i I 9) * I 7 (NO FINISH
) | : i ! ALLOWED)
| | ' '
[w
e >
| - >
i 2 i
-\ 1/4" 9-20 x/3/4 . |\
n g S.5. BOLTS W, #14 WOOD SCREW
2°x4" PLATE 7/8" X 3/32 " ;
/\ 12" 0. C. Al 6" 0.C. W/ 1 1/2" Min.
276" PLATE THREADED PENETRATION
# 14 WOOD SCREWS @ L TO EXISTING WOOD A‘ ZE&NAZ:/KE zz
6" 0.C. W/ 1 1/2" Min. v“ < HEADER.
/\/ THREADED PENETRATION Max. DESIGN LOAD = 166.0 psf
Z WOOD STUD TO EXISTING WoOoD Rﬁﬁéfééfﬁ
HEADER. 5‘ E I!£ ZQ ing with the Flerily
@ 24” 0. C. TERNATI
REQUIRED Max. DESIGN LOAD = +72.0 psf
* SEE DETAIL 1 (7'0P AND BOTTOM) ON SHEET 9.
Max. DESIGN LOAD = +66.0 psf WALL MOUNTING INSTALILATIONS . . .
p , e F.B.C. (High Velocity Hurricane Zone)
- ©2005_TILTECO, INC 0.0295” THICK GALVANIZED STEEL DRAWN BY
NOTES: : SV
1. INSTALLATIONS ARE VALID ONLY FOR DESIGN WIND -I'—-l——— STORM PANEL >
‘ 06/19/05
: Lsﬂz_i_sr. AND Max. PANEL LENGTHS AS INDICATED ON THIS "_ E c o INC. ALUFAB HURRICANE SHUTTERS, INC. /M 4
' 6353 K, S0 oo 306, WA CARSENG, et 33165 13000 N.W. 35th AVE.
2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS LW, Jth. St Ste. 305, 3
WALL MOUNTING SECTIONS CAN BE COMBINED Phone : (305)871-1530 . Fox : (3OS5)B71-1551 OPA—LOCKA, FL 33054 05-145
TO BE SOUTHERN PINE No. 2, W/ SPECIFIC DENSITY OF ’;T‘(:—rm eI
IN ANY WAY TO SUIT ANY INSTALLATION. 0.55 OR EQUAL. ° S ‘!__{é?'\;b o mz_é_z Izzcso;;;ol.com — e a/”"; w{ — prer— s DRAWING No
WA . r., P. E. ! -, e/19, 3
NOY 99 200% FLORDI Lic. ¢ 44167 - mgs_:_:mi“ 2% W SHEET 15 OF 15

# 14 WOOD SCREWS @
6" 0.C. W/
THREADED PENETRATION

1 1/2" Min.

TQ EXISTING WOOD




